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                                

              


  

     
                  

                        
        





             











 

17

  molto 
 molto   molto 

  molto   molto   molto 

  


B

26

 (   )     

 (   )    (      )  

     

  


 

 

 
 

 
 

 









gliss.

gliss.

  



 









  

             






  








 




  


  

             




 




 




 







 




 




 





 







                
gliss.
   




        




 

           gliss.

 

        
gliss.
  

 
        



                  
 

                                 

                                  

                 

           
   

 
   

     
  

 

2












33

      (   )  

gliss.

       

gliss.

 esspressivo 

poco accel. (=)molto rit. A tempo 
(=60)41

  esspressivo 



 

    

               
 

           


                          

 

                     


gliss.

         
         

gliss.

     
 




 


  

 

 






  



     
  

     
         

 



            

                        

         
     

      

  

               
   

        
                             
   

              

3











   

48

(   ) (  )
(  )

      

  (   ) (  ) (  )
      

 

55


  


 

   


















 


  


    




 





  


      





      

 

 
gliss.




       


   


       

gliss.



       



    

 

 



 



 



 





    
gliss.
gliss.



  

 


      

 
 

 gliss.

                 


gliss.

 


 


 

 

 

 


gliss.gliss.

 

 

 

 

gliss.gliss.

 



 



      

 




 

                                          

                          

                                   

  
 

  
 


 





            

    
                 

     
          

  
 

           

4











62

 
        : : :



molto accel. AFAP (vla.) A tempo (=60)
68

 molto  



 gliss. gliss.


        



               

 gliss. gliss.


 








gliss.gliss.
gliss.



     

              

                        

              

         


 

  
 

   
 

   
         

     
  

       

5











 

72

 






(   )
 

=
79

 
(   )

 

   legato espressivo




gliss.

          

gliss. gliss.

 


gliss.

          

gliss. gliss.

 

 
gliss.

   
  

gliss. gliss.

 






   


     

 

 gliss
.






     
 






   


     





gliss
.






     
 


    


      




  


gliss.

gliss.    

 
                      

                        

                  





 
  








                            

                             


 




































  

                 
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









poco rit. poco accel. A tempo85

    

 
(   )

gliss.

(   )

   

=
89

 
 

     





    
gliss.

gliss.   

   
 

 

gliss.







 
 

 


    gliss.    


 

      gliss.

         

 

 

 

 

 

 

     



  


 

 


 

         




 

               

                      
        


                                 

 



     

                  

   

                       










 
             
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







  
(    )


 
(   ) (   )  

96

  
(    )
   (   ) (   )  

 


(    )
   (   ) (   )  

     



104

       

     




 

    

          gliss.

 

 gliss.
  






         gliss.

 

 gliss.
  






 

 
     gliss.

 


gliss.

  






  


gliss.
gliss.

 



   

gliss.

 



   

gliss.
 

                                

                              

                              

 
               

    

                 
    

                 
    

8











: 

 

 

112

:     

:   
 

   

gliss


 

119

   

gliss

gliss

  

   

gliss   

  

    


   



gliss. 

















       gliss.


 

 



gliss.
gliss.        

       gliss.
gliss.

    



 gliss.















        gliss.


          






 


          





  
 

 

         





  

                
     

   
            

     

                      

                     
      

                
    

      

                           

9











() dolce

(   )
  



=80 =60
127

() dolce

() dolce    



accel. AFAP (vln.)

135

  

 


     




  

gliss.

  




 


 


 

 
gliss.


 


   


 


 
 gliss. 

gliss.
gliss.

gliss.


gliss.

gliss.
gliss.

gliss.


 

 
gliss.
gliss.


                

    
    

     

                     

                             


 

    

        
  

10













gliss.

A tempo (=60)

138

   

   
 

  
    

144

   

    
    


 


  

 


 

gliss.

       

  

 

 




gliss.  gliss.


   




 


 



 


      


       

  

 

 gliss.
gliss.

   



 



 


gliss.
gliss.






gliss.     

       

        
            

 
           

   
     

                         

                       

                        
  

 

11











    
  

152

 

  
gliss

 
  

   
romantico


=104
158


romantico


 
(   )   

romantico




  


 



gliss.  


 



 



 



 



 


 


 

gliss.
gliss.

  


 


 

    gliss.



        


  
 

 

 gliss. 
 

 

   
gliss



       


  
 

 

     
                   


        

               
                       

       

      
                

              

       
                
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








 dolce

 

Independent Tempi =80 =60

Senza Tempo

165


 dolce

 


 dolce

 

 dolce

 

rall. 
174

 dolce

 

 dolce
 

  

 


rall.

gliss.

accel.

gliss.

a tempo

molto accel.

gliss.







   



 


accel. molto rall.

gliss. gliss.  
 


 



 



      


molto rall.

gliss.
gliss.

molto accel.

gliss.

 


 


 




  




  


 


 


 




     

 


 

 

   



 





 


 



     


   


 




 


 


     


   


 



          
 





         

    
                    

   
      

  
     

       

                  
                  
                  

13













=48
Very slow, simple/lifeless

1

 



12








    


 



  




     



  
      





    

        

      





  

                  

                          


 


          

     
    

   
       

                                     
      


 

                     
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







22

32



    

 



       

 

                                                 

                              

 


 
     

        
           

                                                              

                                       

              


 
      

        



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







43

  

 

53

      (          )


 



    


               

 




       
       

                        
 

         

 


           

             
     

 






   

 

        

                          

        


   
 


      

  


        

     
 






   

 




  



             




                
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







     

59

     

    


      
65

     

    





               

       
       



                            

                        

 



                       




                   


                     

    
  

    

             
 


                

              

                  

               
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